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Sum/Difference, Double Angle and Half-Angle Practice
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Given that tanf = - % and @ is in quadrant 11, find the following:
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Prove the following identity Prove the following identity

sin(x+ y)- sin(x—y)fsin® x—sin’ y
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— Prove l?elfollowing iderT.tity .. ¢ Préve the féllowihg identity 4
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 — Prove the following identity S Prove the following identity —
SIA(K) L sin(x) tes (x)
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P Prove the following identity

|
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l
CoS) - Sif0x)
- \
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sec 2x}|= —mm8
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Prove the following identity

Cos?(x)- sin*(x)

(0s(2x)
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f A+ B+C=nx, and A+ B =x-C, then tan(A+ B)=tan(xr - C). Using these

relations to prove that: tanA + tanB + tanC = tanA-tanB-tanC.

tan (A+R) = tan (11-0)

Lan (M) 44en(8) . 4akin) - £an(e)
|- tanitsnd) |- papin)bente)
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| -£an(AYtan(8) ‘
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ton(A)ttanB) =-Lan(e) + £an(a) 4an( 3)tan(¢)
+t4n(() +tan (o)

L (B4 Kan(B) + tan () = tan (8) ban (8) an (<)
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F Prove the following identity ;:n
sin(x — y) % sin(y—z} sin(z — x) —0
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4 A ball attached to a spring is raised 2 feet and released with an initial vertical velocity of 3 feet per second. The distance of \
the ball from its rest position aftar kearnnde ic niven hv A= 2 rac t 4+ A cin # Show that
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- i Use Sum/Difference Formulas to give the exact value of the trigonometric \
ratios below. Confirm you solution using a calculator
. o _158¢° s_ﬂ
C—, sin 1950 } Qi g tan =
Sin (150°+4¢°) (0s(30™4s") next page
Sin(150%)cos(4S%) 4 s‘m[lls")cas(lso') (03 (30")cas (45°) +5in(36°) st (45°)
.. @ LR T 1,
e s A B =y W
2 _w o', m
4 T
-l 412
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sin(195) -
--------------------------- 2r. 250220451, O 0.9659258263
“ eyl -9. 2588190451 ({6+]2) /4 m
’.. .......................................................... 0.9659258263 4
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radicns to daqres.
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2 5 _ o4
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sin(5n-,12)
B.9659258263

Use Half Angii Fiormu(I:as tfo give the lIBXECt value of thxl'-.e trllgonometric e
ratios below. Confirm you so Utlgl usmﬁ_a calculator
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